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(b)A T4 <=7 )L : https://cran.r-project.org/doc/manuals/R-intro.pdf
Venables, W.N., Smith, D.M., & R Core Team (2014). An introduction to R.

(c)RFAQ : http://cran.r-project.org/doc/FAQ/R-FAQ.html
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(d)help function/example function;
e.g., help(sum)
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(1)The R Project for Statistical Computing (&)
http://www.r-project.org

(2) R Tips (A AREE)
http://cse.naro.affrc.go.jp/takezawa/r-tips/r.html

(3)/N 2 & Bl - L& (2013). RFa—KM) 7 ILEZSF—T XX
http://psycho.edu.yamaguchi-u.ac.jp/wordpress/wp-
content/uploads/2014/01/R_tutorial20131.pdf
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http://www.slideshare.net/m884/japan-r-15432969
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MAER +a
> 4+2
[1] 6

4-2  4%2  4[2 4M2

*1 3 - R

log(10) (BAXT#),
log(10,10) (& FHx1T#7),
exp(3) (¥5%k)

4*%*2  4/(2*%2) sqrt(4)

BEEIE, TREE4A (a) I IR (a,b) 1T EDReE LD, a,blX B

Elb‘o

(argument/parameter) &

HEHFIIRERRMIZHEAT
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o X<-3  #IOAVRDEAICUNY—T"#'HNFIHTES,
BB ITEARFETHFLOTITIWNITEL, —EBDESELF AR,

¢ X
e [1]3

e A<-2 ; B<-4 #—1THRIZEFE DG SEELEETIZAFATES,
XEFEEMI-EDEEHE

e A+B

e [1]6

EEDETHEEGTERR
o X<-2;(A+B)*X
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RONIILVDERL
o X<-c(1,2,3,4,5) # c(BUEH) LY T—EIRIKILEES,

Y<-c(1,5,3,2,4)

EAME ROHE

sum(X) mean(X) var(X) sd(X) cov(X,Y)
cor(X,Y) sum(1:5) X+Y X*Y XA2 X+1
#1:5131,2,3,4,5%169,

R R

var(X) (IR R EED T, BERDHAZTTHETHEZIE, 4l
Z I, var(X)*((length(X)-1)/length(X)) & T BILELH S (k).
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e rnorm(1)
e rnorm(10)
e rnorm(10,mean=0,sd=1) #3DB®D3I&KIIHETIILHLDTIEE,

e rnorm(10,0,1)

runif (10,0,1)

library(MASS) #library,matrixlZ DU\ Tl #E b
e mvrnorm(100,c(0,0),matrix(c(1,0.5,0.5,1),2,2))
HEZBDFEHA0TH RN LB 0.5M2E N EL I Z 100{EFH A,
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seq(1,10,by=1) #EFIDERK, bylLfE =,
seq(from=1,t0=10,by=3)
rep(1,5) #1 DB DS FIZTREIN TS RIIDEHFE L,
X<-c(1,2,3); rep(X,5)

floor(3.24) #EEHITH Y)Y,

round(3.24,1) #9¥E A A, =D B D 5| &I HTEL
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(1)” e-8"75 E D TR,
x<-rnorm(100) #El%n %«
z<-(x-mean(x))/sd(x) #E#£HBEOESL
mean(z) #EH0IZHBI1ZT)DEE

[1] -2.751705e-18
~>e-181F10M-18FE N E KSR YZAE<OIZITLY

(2)"Inf" 72 E DT,

> 107500

[1] Inf

=>“Inf” (or “Inf”) [ (BD)ERKXZRT .
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(RKEIZES>T. ) RAENHHI5E

X<-c(1,2,3,4,NA); Y<-c(3,4,5,1,2)

—EHDFH

> mean(X)

[1] NA

> mean(X,na.rm=T)
[1] 2.5

—EREDERS
> cor(X,Y)

[1] NA

> cor(X,Y,na.method<- "complete.obs") #XAIDELNT—XZ{FEHXFAL,
[1] -0.3779645

o T—ADKAIZETAEMMEBIEICOLTIEFIEE-TE(015)ZSHE,
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[BRBES]EMED,

X<-c(5,4,2,3,1)
> X[3]
[1] 2

> X[2:4]
[1]4 2 3

> X[c(3,5)]
[1] 21

EH:II'MI:
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data()

data(package = .packages(all.available = TRUE))

Data sets in package

LirPassengers
BEJ=zales

BJdsales.lead BJd=sales)

BOD

cCo2
ChickWeight
DiNase
EuStockMarkets
Formaldehyde
HairEyeColor
Harman23.cor
HarmanT4.cor

‘datasetcs’ :

Monthly Airline Passenger Numbers 1949-1960
Sales Data with Leading Indicator

S5ales Data with Leading Indicator

Biochemical Oxyvgen Demand

Carbon Dioxide Uptake in Grass Plants

Weight wersus age of chicks on different diets
Elisa as=say of DNase

Daily Closing Prices of Major European Stock Indices, 19951-1998
Determination of Formaldehwyde

Hair and Eye Color of Statistics Students
Harman Example 2.3

Harman Example 7.4
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Sprecies
=etcosa
=eTcosSa
=etcosa
=s=etcosa
=etcosa
=etcosa
=ecosa
=etcosa

e
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Sepall B F 1D KR EEME-Petal [ TEU L ID K EE,
-Species! HPHI35HFE [setosa*versicolor=virginica] ]



(T—R)THIDOEZRDIHE - NE

iris[1,2] iris[,2] iris[2,] iris[,-2]
irisSSepal.Length # [S+ZE 8 1 IC KD AAH
colMeans(iris[,1:4])

rowMeans(iris[,1:4])

rowSums(iris[,1:4])

cor(iris[,1:4])

round(cor(iris[,1:4]),3)
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o AEYDNEEILOR—RBEIZLSEAEMDcrashzfilT51=8, —ED B
[ZDWTIE, ZENHABIIIN TSNV —DFFRHAIATELNEWLITFELY,

BIZ ...

> describe BEEAY R h—)L
> Ng o ; / .
I5—: ATk ‘describe’ BBHYFEEA ThIFLBRTRE,

install.packages(" psych")

install .packages=s (| "p=syvch

,-'g:,.'"jl' —TXE O ,-"U.se:rs,-"sat,os"1:L,-"Doc‘.:u:r.ents,-"R,-"win—lib:ra:ry,-"Z .aisc P —IbLEET

(*likr AFEESALT LVE LD T
——— et A TESE S, CRANMES AR EFBATEEL ——— CT,_ >~
TRL "http://cran.ism.ac.jp/bin/windows,/contrib/ /2. 15/psych 1.4.3.=ip" FElL T LR R z- b

Content type "application/zip' length 23907097 bytes (2.8 HMo)

SRR / EHAALLE.

i

I|brary(psych)#7477'ﬂ H5, A2 A= )L LT=psychD i HXFHF
IS5—hHTAUR—ILTELZ G E D XL

j‘;(g;)—%;a%_ﬂg%sﬁiit XHIGEH(ZDGE. EBELLTAVAVLTEBETSAENHYET) REAKREZEEELLTE
17 Vi 7 o

*EROBREICESTI X GHEENHYET  FNT X GIHES, BEDEEMNASHANEHERT HHZENLENTT . F-, A
ATIHELMDE (Singerpore’E E)ZL TS EEF 1 TADEEARIETELNELELNEE A,
*PCEDIAETRDversionM3FZEEILTEIFELLMRNCEDNHBHT=8, version2Z > THTLZELY,
*f;%g;;_;@%%ﬁ?ﬁ(%ﬁbf:) psychD I 74 ILET 4L IR (windowsD 15 A : document/R/win-library) RIZIRTET S A
EM o
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describe(iris) #EAET =D ETE

> describe(iris)
vars n mean 3d median trimmed mad min max range skew kurtosis se

Sepal.Length 1 150 5.84 0.83 5.80 5,81 1.04 4.3 7.9 3.6 0.31 -0.61 0.07
Sepal.Width 2 150 3.06 0.44 3.00 3.04 0.44 2.0 4.4 2.4 0.31 0.14 0.04
Petal.Length 3 150 3.76 1.77 4.35 3.76 1.85 1.0 &.% 5.5 -0.27 -1.42 0.14
Petal.Width 4 150 1.20 0.76 1.30 1.1 1.04 0.1 2.5 2.4 -0.10 -1.36 0.06
Species® 5 150 2.00 0.82 2.00 2.00 1.48 1.0 3.0 2.0 0.00 -1.52 0.07
1
. . S = 4L ——

alpha(iris) #afREDEFTE ( help(alpha)HL1%ILD, )

Relialkbility analy=sis

Call: alpha(x = iris) _ .
raw_ alpha sctd.alpha G6 (smc) average I 5/ ase mean =d VerSion':J:o-tE-l-ﬁ%E%b\

.81 o.853 .99 .58 5.8 O0.055 Z.9 O.86
EHHARENE?

lower alpha uppoer 95% confidence boundaries
.71 Oo.81 0O.892

FEeliakilicy if am ictem i= dropped:

raw alpha std.alpha G6 (smc) awverage I S/ alpha s=
Sepal . Length [0 I i .81 O.86 .59 g .2 O..07F7
Sepal . Widtch-— .88 o .28 O.98 D.8g8 2Z22.9 O.0642
FPecal .Lengich .72 O.70 Q.77 O.43 2.3 O.075
Petal .Width o.688 oD.73 .86 o .37 2.7 O.o79

fa()IC&KAREF A HTDEIT(R )
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_ ZTl&, —fERI%ECSV(Comma separated values) File|Z B> TERBA,

T—3 DR TFE (write.csv)
write.csv(iris, "C:/Users/satoshi/Desktop/PUBLIC2/irisdata.csv")

ERTALIMNEHRET DLER | Flirisdatal (X771 LA THY, AHI
DO HRFER, ""ETNEL( TIIEWN ! ) RFYPald/DREE, csvb

SNTELY, MacDF&EIEC: (|*7’f7“%)§/lélﬂ‘(iéil,\

BAZEDI7 AV & (BIZ (L HEATERZ csvE L VSRR ZEnds ’CI7 NHEDIES.
read.csv(file(" ‘C:/Users/Satoshi Usaml/Desktop/PUBLIC2/ijﬁ csv”,encoding="Shift_JIS’))&T HE LKLY,

T—3DEEAHY (read.csv)
H#FILDPCDIZE
read.csv("C:/Users/satoshi/Desktop/PUBLIC2/irisdata.csv")
BE, EETALIR) (wd)DIEEMNEEILZS I,
setwd("C:/Users/satoshi/Desktop/PUBLIC2")
read.csv("irisdata.csv")




T—RDEN
subsetBd %

subset(iris, irisSSpecies=="virginica")

FE 20D EDEIMMNHEES FE5(==)CPFFS=HED " [EXFE
HDE=IZRET S,

BHEHDIZE:
subset(iris, irisSSpecies== "virginica" & Sepal.Width>3.0) # &=/MD
subset(iris, irisSSpecies== "virginica" | Sepal Width>3.0) # |=F1=I&

subset(iris ,select=c("Species","Sepal.Length")) #&E&4eTFE LELVAE

## I8 : attachBA%k

> Species

I5—: AT Tk ‘Species’ BHBYEEA
attach(iris)

Species

detach(iris)



T DRI DB (£ D2)

cbind(iris[,c(1,3)],iris[,c(2,4)]) #HIARDFEE . 1T R IdLrbind.
nrow(iris); ncol(iris) #1T#t& 512K

head(iris) #IxF) D HITD T —2 TR~

DATA<-matrix(1:15,3,5) #17 5! D& &%

t(DATA) #T —R{THIDELE(ANEZ)

scale(iris[,1:4]) #T—3NIEHE1L



Exercises

1, Calculate basic statistics of variable X=(1,3,5,7,9,11,13)
including sample mean, variance, standard deviation.

2, Let X=(1,3,5,7,9) and Y=(3,5,3,5,7) be two variables. Calculate
correlation between X and Y with rounding to two decimal
place (e.g., 0.72763... as 0.73).

3. Express data of X=(1,2,3,1,2,3,1,2,3,1,2,3,1,2,3,1,2,3,1,2,3) by
using rep function.

4, Let X=(1,2,3,4,NA,5,8,9,11) be data including missing. Make
new variable that does not include missing in X.

5. Confirm data named “lsat7” exists that includes 5 variables
with size 1000 from data(), then calculate correlations of

variables and alpha coefficient (reliability) of this data. Here
results should be shown within three decimal points.
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aT 74T (R 3E)

DATAsetosa<-subset(iris,irisSSpecies=="setosa")
DATAversicolor<-subset(iris,irisSSpecies=="versicolor")

#ttest HLDEISDEDRTE
t.test(DATAsetosaSSepal.Length, DATAversicolorSSepal.Length,var.equal=T)

#Welch’s test KD REDEDIRTE
t.test(DATAsetosaSSepal.Length, DATAversicolorSSepal.Length,var.equal=F)

> t.test (DATA=seto=sasSepal..Length, DATAversicolor:Sepal .lLength,var.equal=T)
Two Sample t-test

data: DATAsetosafSepal.length and DATAversicolorfSepal.lLength
t = =-10.521, df = 88, p—-value « 2.2e-16
alternative hypothesis: true difference in means is not egual to O
895 percent confidence interwval:
-1.10541eS -0.7545835
sample estimates:
mean of X mean of vy

2.006 5.5936



aT 73 AT (FHE R ZN DR TE)

cor.test(DATAsetosaSSepal.Length, DATAsetosaSPetal.Length)

#SetosalZH 115, B<HAETEFDODEREIDIEE

Pearzon'=s product-moment correlation

data: DATAsetosasSepal.length and DATAsetosaf$Petal.Length
t = 1.58208, df = 48, p-value = 0.0607
alternative hypothesi=s: true correlation i= not equal to O
85 percent confidence interval:
—0.012086954 0.50776233
sample estimates:
COor
N0.2a7T17TER




LT AT ([El)R 2 4T)

B [A]JF 53 #T (Im(y ~x))

Im(irisSSepal.Length~irisSPetal.Length)

summary()&E LD, JYEFHZIBIRD M,

summary(Im(irisSSepal.Length~irisSPetal.Length))
summary(Im(irisSSepal.Length~irisSPetal.Length))[[4]]
AIC(Im(irisSSepal.Length~irisSPetal.Length))#|& ki = 5 #E

FERHHT (Im(y~x1+x2))

summary(Im(irisSSepal.Length~irisSPetal.Length+irisSPetal.Width))




REt AT (—RRIEERIZET L)

HO, 1T —AMIERK (ifelseB#TT—2ZEHIZKZILDEEN)
irisPetal.LengthO1<-ifelse(irisSPetal.Length>4,1,0)

A XTI RlIIRS T

glm(irisPetal.LengthO1~irisSSepal.Length, family=binomial (link="logit"))
summary(glm(irisPetal.LengthO1~irisSSepal.Length, family=binomial(link="logit")))

T—AEFAXOTOVN(FE)

result<- summary(glm(irisPetal.LengthO1~irisSSepal.Length,
family=binomial(link="logit")))

Esintercept<-result[[12]][1,1]; Esreg<-result[[12]][2,1]#EIIEX D] F L [EIFFR LK
xaxis<-seq(from=4, to=8, length=200) #x&H
yaxis<-exp(Esintercept+Esreg*xaxis)/(1+exp(Esintercept+ Esreg* xaxis)) #yHH
plot(irisSSepal.Length, irisPetal.Length01) # 7 —47 0wk

lines(xaxis, yaxis) #E BT —2 CHIEZHEE T 5
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AT ST (53 B3 4T)

aov(irisSSepal.Length ~ factor(irisSSpecies))

summary(aov(irisSSepal.Length ~ factor(irisSSpecies)))

Df Sum 5g Mean 5g F walue Pr(>F)
115.3 <2e-1lp **=

factor (iris&Species) 2 ©83.21 31.606
Rezsiduals 147 38.9& 0.285

5ignif. codes: O '***f 0.001 *#*' 0.01 **f 0.05 '.7 0.1 * " 1

f--L, THNRECHE=EDERLGEEL >V LHENGHE LD =—
ADHBIGE, MOV INEFHRAT I ELHB, F-EZIX, SPSS,

ANOVA4(http://www.hju.ac.jp/"kiriki/anova4/),
ANOVAZ (http://riseki.php.xdomain.jp/index.php) >R TCE{TH] !




anovakunlZ& A X

BB e BRRABUET P ke, 820

source ( "http://riseki.php.xdomain.jp/index.php?plugin=attach&refer=ANOVA%E5%90%9B&openfile=anova kun_480.txt")
subdat <- subset(iris ,select=c("Species","Sepal.Length"))

anyNA = function(x) {any(is.na(x))} #ver3. 1LIGTHESF B LV OB E
anovakun(subdat, "As",3,peta=T) #F—4. ERtE, KEHEE,

[ &s—Type Design ]
A s (1 ERBEE ) TRl SR VRS SIIINAHLTIYIE, ffyp weenr ® vesien 2ane
S fx‘( 1‘ggiglii;%gzﬁgﬁii%§‘F§]) << DESCEIFTIVE STATISTICS >
AB s (2 g%ﬁ‘%ﬁ%ﬁzﬁ) 2 n mMean  s.D.
A s B(2 EERE e
s A B(2 ELHE#EEN) 2530 °:3%e sissse
lAL Eg (:: E; ( E;£§§§!ii;%gzkgﬁii%§‘ﬁ§j) << ANOWVAE TABLE >
AB s C(3 ZHEA P e — P

A S B C(3 g?ﬁé\ B 63.2121 2 31.6061 1195.2645 0.0000 *** 0.68187

Error 38.9562 147 0.2650

s ABC(3ERYERZ M) | oeiieaiees s e T

+ < .10, *p <« .05, **p « .01, *%**p « 001




et 7 AT (EF 53 4T)
HALT —3HE(EE)

DATA<-mvrnorm(500,rep(0,5),0.5+0.5*diag(5)) #diag() [ >xt B 175,

#FEBH 1T A DHEER
cor(DATA)

HEAF DT DEIT (GPArotation/ SvT—SHEAV R R— LT BILE)

FA1<-fa(DATA,nfactors=1,fm="ml",rotate="promax",scores=TRUE)
FA2<-fa(DATA,nfactors=2,fm="ml",rotate="promax",scores=TRUE)

#R91)—F Ak :

VSS.scree(DATA)

Eigenaluesof comparens

cormponent numiber



print()IC&HH

e print(FA2 ,sort=TRUE ,digit =3,cut=.6)

Standardized loadings (pattern matrix) based upon correlation matrix

Vv ML1 hZ uZ com
3 3 0.828 0.3%94 0.606 1
2 2 0.598 0.358 0.842 1
4 4 0.525 0.276 0.724 1
11 0.524 0.275 0.725 1
5 5 0.490 0.240 0.7&0 1
ML1
55 loadings 1.542
Proportion Var 0.308
Mean item complexity = 1

Test of the hypothesis that 1 factor is sufficient.

The degrees of freedom for the null model are 10 and the objective function was 0.688 with Chi Sguare of 341.
The degrees of freedom for the model are 5 and the objective function was 0.014

The root mean square of the residuals (EMSER) i=s 0.027
The df corrected root mean sguare of the residuals is 0.038

The harmonic number of observations i=s 500 with the empirical chi =sqguare 7.085 with prob < 0.214

The total number of observations was 5S00 with MLE Chi Sqguare = 7.004 with prob < 0.22
Tucker Lewis Index of factoring reliability = 0.98789

EMSER index = 0.0287 and the 90 ¥ confidence intervals are HN& 0.0727

BIC = -24.0&69

Fit bkased upon off diagonal wvalues = 0.9393
| Measures of factor score adequacy

ML1
Correlation of scores with factors 0.834
Multiple E =square of scores with factors 0.685

Minimum correlation of possible factor scores 0.391
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BEREETIL#RRE)

ZZ : http://lavaan.ugent.be/tutorial/growth.html
# T 20 (lavaan/ \w/ 7 — 2 DR A0 7+)

install.packages("lavaan")

Iibrary("lavaan")

#T /5‘0)::)1. 077~

DATA<- read.csv("C:/Users/satoshi/Desktop/PUBLIC2/Transcend/®W} 32 /74, 5 R4
J/iwanamimath/$E 7E-T—42 R KXHK{/E2009-2013.csv")

attach(DATA)

HETILDRR-BERRETILERE) # v+ T7—23v() ITER !

growthmodel<-
'fl="1*sleeptimel+1*sleeptime2+1*sleeptime3+1*sleeptimesd+1*sleeptime5+1*sleeptime6b

fS=~0*sleeptimel+1*sleeptime2+2*sleeptime3+3*sleeptimed+4*sleeptime5+5*sleeptimeb

#arEH h
fit <- growth (growthmodel, DATA, missing = 'fiml', fixed.x = FALSE)
summary(fit, standardized = T,rsq=T,fit. measures = TRUE)



BEBREETIL(ZR)
ZZ : http://lavaan.ugent.be/tutorial/growth.html

#T—RDFHHAH
DATA <- read.csv("C:/Users/satoshi/Desktop/PUBLIC2/Transcend /8% /74, 5 IR A~
/iwanamimath/& 7E-T—4JAHEAD.csv")

attach(DATA)

#ET LD LR

growthmodel<-*
fl=~1*W60+1*W63+1*W66+1*W69+1*W72+1*W75+1*W78+1*W81+1*W84+1*W87+1*W90

fS=~0*W60+(1-exp(-para*1))*W63+(1-exp(-para*2))*W66+(1-exp(-para*3))*W69+(1-exp(-para*4))*W72+(1-
exp(-para*5))*W75+(1-exp(-para*6))*W78+(1-exp(-para*7))*W81+(1-exp(-para*8))*W84+(1-exp(-
para*9))*W87+(1-exp(-para*10))*W90

para>0.05 #/2)BARFER S

#arEH h
fit <- growth (growthmodel, DATA, missing = 'fiml', fixed.x = FALSE)
summary(fit, standardized = T,rsq=T,fit.measures = TRUE)



ZRERHAFHLITETIL

#T ZEE (lavaan/ \wr — O D F HIA 7

install.packages("lavaan")

library("lavaan") =

. HFIDPCDIZE
#_F—%ﬁu:(T 9@:.)[.0—9‘3&37“) /
DATA<-read.csv("C:/Users/Satoshi Usami/Desktop/PUBLIC2/example.data.csv")
#ET JL DLk

bifamodel<-'fA=s~A1+A2+A3+A4+A5+A6+A7
fB=~B1+B3+B5+B6+B7

fC =~C1+C2+C3+C4+C6+C7
E;:f:;f}i?;%y BRI ERALL,
#HTEH 7

fit <- cfa(bifamodel, data = DATA)

summary(fit, fit. measures = TRUE)

=~[Emanifested by D =Rk
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i 77

lavaan (0.5-16) converged normally after 34 iterations

Number of observations 8961
Estimator ML

Minimum Function Test Statistic 10506.631
Degrees of freedom 226

P-value (Chi-square) 0.000

Model test baseline model:
Minimum Function Test Statistic 105729.828
Degrees of freedom 253
P-value 0.000



e User model versus baseline model:
Comparative Fit Index (CFl) 0.903
Tucker-Lewis Index (TLI) 0.891

e Loglikelihood and Information Criteria:
Loglikelihood user model (HO) -268732.279
Loglikelihood unrestricted model (H1) -263478.964

e Number of free parameters 50
Akaike (AIC) 537564.559
Bayesian (BIC) 537919.591

Sample-size adjusted Bayesian (BIC)  537760.699

e Root Mean Square Error of Approximation:

RMSEA 0.071
90 Percent Confidence Interval 0.070 0.072
P-value RMSEA <= 0.05 0.000

e Standardized Root Mean Square Residual:
SRMR 0.050

1

op
i

Rt

L E




fA =~
Al
A2
A3
A4
A5
A6
A7

E2
E3
ES
E6
E7

fA
fB
fC
fE

Estimate Std.err Z-value P(>|z])

Latent variables:

1.000
0.899
1.131
1.204
1.315
1.255
1.058

1.000
1.109
0.779
0.858
0.884

1.000
1.505
1.028
1.486

0.018
0.018
0.019
0.019
0.019
0.017

0.014
0.012
0.014
0.012

0.026
0.024
0.025

51.175 0.000
61.350 0.000
62.916 0.000
69.687 0.000
67.619 0.000
62.571 0.000

* ik

78.161 0.000
64.319 0.000
63.020 0.000
71.519 0.000

58.972 0.000
43.688 0.000
58.706 0.000

INADMEEE
BERE
REMETE
plE

Variances:
Al
A2
A3
A4
A5
A6
A7
B1
B3
B5
B6
B7
C1
C2
C3
C4
C6
Cc7
E2
E3
ES
E6
E7
fA
fB
fC
fE
f

0471
0.741
0.622
0.634
0.455
0.491
0.502
0.500
0.591
0.401
0.349
0.528
0.800
1.207
1.012
1.107
0.973
1.040
0.516
0.550
0.561
0.727
0.502
0.134
0.069
0.358
0.033

0.008
0.012
0.010
0.011
0.008
0.009
0.008
0.009
0.010
0.008
0.007
0.008
0.015
0.019
0.018
0.019
0.017
0.018
0.009
0.010
0.009
0.012
0.008
0.004
0.005
0.012
0.005

0.322 0.010



— o)
TR)3a)y -k ) 7 JLFEES

o ThZAYYHIEBE. . 2EBT—FESLOFEE, AU T ILAERE. 2{ESERE T —FDOBOMERE,

library(psych)

library(MASS)#Z EEE R AN DEBDFELED AF|H

Data<-mvrnorm(10000,¢(0,0,0,0) ,0.5+0.5*diag(4)) #N=10000D L T—2 (EDIEEAMN L T0.5)DHLE

DataO1<-ifelse(Data>0,1,0) #01 T —3 D FH 4
sumscore<-rowSums(Data0l1) #8551 R DEHE

#example

biserial(sumscore,Data01[,1]) #bis*¥ERE(ITFERH)

#example2

tetrachoric(data.frame(cbind(D ata01[,1],Data01[,2])))
#example3

Cormatrix<-matrix(rep(0,16),4, 4) #$5 R Z & NI H1TH D 1ERK
for(i in 1:4){;for(j in i:4){

e  Cormatrix[i j]<-tetrachoric(da ta.frame(cbind(Data01[,i],Data 01[,j])))[[1]][1,2]#+B B %R £k D & 3 5
e  Cormatrix[j,i]<-Cormatrix[i,j]

* b}

e Cormatrix #7223y +EE

« cor(Data01) #ORE(E7V2DIEZERERM)



MaT 7T (RENR)

REKRIE, BEDISRAI—DTDESZ) DEORNRELTHEELTL
DT—EADHFALTREEFITOIDTIILL, HEZHOENLE NS
BT A= DEHTHARPELEHMEEEMIZFIALT, ThiIZLD
BEETHDOEEERMICITIA R T—3RA=VT FED—2,

rpart, mvpart/ \w4sr—= OpenMx,semtree/ N\ r—3
H51<05 | 18p=05 .

M= 400 p=0

PRI <1

HElRERT>=400 | BEREGRI< 435

39.54:n=164

M= 236 p=0 M= 164 p=0
ERIR=005 | BERK 205 BRI < 440 LN
— |
12068 =122 "w12 = 0 669 wi2=05 ‘w12 =0316 w12 =0.181
W22 = 1.229 W22 = 1.291 W22 = 0.408 W22 = 0.574
W32 = 0.254 W32 = 2.061 W32 =0.211 W32 =0.832
Pi2 = 0.669 Pi2=05 0i2 = 0.316 Pi2 = 0.181
pis = 0076 pis = 0477 pis =0.123 pis = 0127
|:- ps2 = 0.516 ps2 = 0.32 ps2 = 0.064 @s2 = 0.008
—amlill Oi = 0.559 Bi=0617 0i = 0.629 Bi = 0.594
87215 n=108 16:n=6 L ©s=1162 ©s=1769 ; |©s=0315 Os=0549 |

MN= 122 M= 114 M= 108 M= 56
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*INFZ - $71(2013). RFaA—R)7ILEEFH—&YUBIH, — 8 ZE.

hist(irisSSepal.Length) #HE AT S5 L
hist(irisSSepal.Length ,breaks =20) #FE#REMDERTE -
barplot(table(irisSSpecies)) #1549 57

Histogram of iris$Sepal.Length Histogram of iris$Sepal.Length

50
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20

=
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iris$Sepal Length irs$Sepal. Length

virginica




50 55 50 65 70 75 8.0

4.5

boxplot(Sepal.Length~Species ,data=iris) #f8 MF
plot(iris$Sepal.Length ,irisSSepal Width) #8587

5;(

5;(

plot(irisSSepal.Length ,pch =3) #<¥—VMNDZEHE
plot(irisSSepal.Length ,col="blue") #BMNDZEHE

plot(irisSSepal.Length ,type="1") #{ED L HE

irisfSepal Width
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)EBERIRIE2 N\vFr—, T—3DEEAEY etc
(3)#&T 57 47 - R D 1ERK
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=1L —

— iR
if (expr_1) {
expr_2
lelse{
expr_3

J

g

P

a2 D EEE (ifR32R)

Example:
A<-10

if (A<5) {
C<-1
lelse{
C<-0

}

C



Ialb—Ia D EME

for B (forBE 24, while BA£X)
— iR IH Example:(1)
for (name in expr_1) { A<-c(7,5,3,2,5)
expr P SUM<-0
) B for(jin 1:5){
SUM<-SUM+A[]]
}
SUM
while B8
Example:
— e R
while (expr_1) { >UM<-0

while(SUM<15){
\ SUM<-SUM+7

}
SUM

expr_2




T—h RSy T DBIGER R R DHE )

library(MASS)
Data%gvrnorm(100,c(0,0),0.5+0.5*diag(2))#§%%Efﬁﬁ*ﬁ#%@ﬁr—'s‘@
Y<-Datal,1];X<-Data[,2];cor(Data)

(1-0.572)/sqrt(100) # TR AE#EER 2=

HJ—hRANSYT

CORR<-rep(0,10000)

for(j in 1:10000){
Number<-sample(1:100,100,replace=TRUE)
NewData<-Data[Number,]
CORR[j]<-cor(NewData)[2,1]

}

sd(CORR) #& Y IEFEIIZHER =,
hist(CORR)



i

PROB<-0
for(j in 1:50000){ # &8 & &L TILjLAS THOK.
A[jl<-rnorm(1,0,1)

if(A[]1>1)1

PROB<-PROB+1

lelse{

PROB<-PROB

}

}

for(j in 50001:100000){ # i & &L TIjLL4t
Aljl<-rnorm(1,4,1)

if(A[]>1)

PROB<-PROB+1

lelse{

PROB<-PROB

}

}

hist(A)
PROB/100000

|II|J

Freguency
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KUNZREE

DATAA<-rnorm(500000,0,1)
DATAB<-rnorm(500000,4,1)
A<-ifelse(DATAA>1,1,0)
B<-ifelse(DATAB>1,1,0)
hist(c(DATAA,DATAB))
sum(c(A,B))/1000000
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HERFTTEA DI RABI(FEZEEKDH D)

PROB<-0

for(j in 1:1000000){
x<-runif(1,0,1); y<-runif(1,0,1) #— ¥k T Hh o D ELEX
A<-x"2+y72

1
if(A<1){
PROB<-PROB+1
lelse{

PROB<-PROB

0
J
J
4*PROB/1000000

CDEOILBHEIFEDTHILOKIZCEKBENTAEEEIEINS,




FYUNEWGZESTA
x<-runif(10000000,0,1); y<-runif(10000000,0,1)
dataOl<-ifelse(x*2+y”*2<1,1,0) .

4*sum(data01)/10000000 \
0 /

CDEOILBHEIFEDTHILOKIZCEKBENTAEEEIEINS,




TAMDEEE LGRS AT
(FRMNERTHDIFE)

P<-0.60 #(&1EEK)
rho<-0.80 #({S £814)

DATA<-sort(rnorm(1000000,0,sqrt(rho)),decreasing=TRUE)
TRUEDATAPASS<-DATA[1:(1000000*P)]; TRUEDATAFAIL<-DATA[(1000000*P+1):1000000] #E D 15§ 5 5%

OBSDATAPASS<-TRUEDATAPASS+rnorm(1000000*P,0,sqrt(1-rho)) #ED SR E D ER DB S
OBSDATAFAIL<-TRUEDATAFAIL+rnorm(1000000*(1-P),0,sqrt(1-rho)) H ED A SR E D ER DB E O

OBSDATA<-c(OBSDATAPASS,OBSDATAFAIL)

sum((sign(rank(OBSDATA)[1:length(A)]-1000000*(1-P))+1)/2)/(1000000*P)# E [5 4%
1-sum((sign(rank(OBSDATA)[1:length(A)]-1000000*(1-P))+1)/2)/(1000000*P)#{& = 1%

sum((sign(rank(OBSDATA)[(length(A)+1):length(c(A,B))]-1000000*(1-P))+1)/2)/(1000000*(1-P))#{& 54
1-sum((sign(rank(OBSDATA)[(length(A)+1):length(c(A,B))]-1000000*(1-P))+1)/2)/(1000000*(1-P) ) # E f& 14



B DEBMEFS (IFARTEN)

Samplevariance<-function(DATA){
sampleV<-var(DATA)*((length(DATA)-1)/length(DATA))
return(sampleV)

}

Samplevariance(1:5)

#EAMAIXEHICDIFT TRV, EHLEZDITHEED LI
HEEHEHY,



B 5 DEMZEFES(nDETHE)

PICALCULATION<-function(T){
PROB<-0
for(jin 1:T){
x<-runif(1,0,1); y<-runif(1,0,1) #— k> M Mo D ELEL
A<-XA2+y N2
if(A<1){
PROB<-PROB+1
lelse{
PROB<-PROB

}

KL

e

}
PROB<-4*PROB/T

return(PROB)

)
PICALCULATION(10000)
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